KURYAKYNU¢

INSTALLATION INSTRUCTIONS
MICRO RACK

5782 CHROME OR 5783 BLACK
THANK YOU FOR CHOOSING KURYAKYN!

Protect yourself and others from possible injury and property damage or loss. Pay close attention to all instructions, warnings,
cautions, and notices regarding the installation, use, and care of this product.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN RESULT
IN POTENTIAL DEATH OR SERIOUS INJURY.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN RESULT
IN MINOR OR MODERATE POTENTIAL INJURY.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN MAY
NOTICE NEGATIVELY AFFECT PRODUCT PERFORMANCE AND FUNCTIONALITY OR DAMAGE THE PRODUCT ITSELF OR
THE PRODUCT TO WHICH IT IS BEING ATTACHED.

A WARNING

A CAUTION

ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT:
1 Micro Rack 1 1/4”-20 X 3/4” Torx Button Head Cap Screw (HD only)
2 Rubber Adhesive 1 M8 x 1.25 X 20mm Torx Button Head Cap Screw (Indian only)
1 1/4” Flat washer (HD only)
YOU WILL ALSO NEED:
Torx wrench set

NOTICE THESE INSTALLATION INSTRUCTIONS CONTAIN IMPORTANT INFORMATION. ENSURE THE END USER RECEIVES
THIS COPY AND IS AWARE OF ITS IMPORTANCE FOR FUTURE USE.

STEP 1 Read and understand all steps in the instructions before MICRO RACK PIC 1
starting the installation. Park the motorcycle on a hard, level
surface and turn off the ignition. Let motorcycle cool.

STEP 2  Refer to PIC 2. Locate provided Micro Rack and two (2) — i
rubber adhesive strips. Remove and discard the backing - 1/4”-20 X 3/4”
from adhesive strips. On the bottom side of the rack align - BHCS
and place a strip on either side of the mounting holes. Press p 1) )
rubber adhesive strips into place. M8 X 1.25 X 20MM  1/4” FLAT

BHCS WASHER

STEP 3 Remove the motorcycle seat’s existing thumb nut and BOTTOM
additional hardware. SIDE VIEW OF
FOR HD ONLY: set all hardware aside, it will not be reused. LIS AT S
FOR INDIAN ONLY: set the flat washer aside, it will be
reused.

PIC 2

STEP 4 Determine which torx screw is needed to be used with your
motorcycle.
FOR HD ONLY: locate provided flat washer and place it onto
the appropriate torx screw.
FOR INDIAN ONLY: locate OEM flat washer, that was
removed in Step 3, and place it on the appropriate torx

screw.
STEP 5 Lift the rear of the seat, align and place the rack under the
seat. Determine desired position of rack. Align the rack’s \h
mounting hole with the thumb nut mounting hole. PHOTO
? SHOWN ON HD
STEP 6 Refer to PIC 3. Secure rack and seat in place using the torx : MOTORCYCLE

screw and flat washer assembly. Fully tighten all hardware.


https://www.motorcycleid.com/kuryakyn/

KURYAKYNU¢

INSTALLATION INSTRUCTIONS
MICRO RACK

-CONTINUED-

NOTICE

IT IS THE INSTALLER’S RESPONSIBILITY TO ENSURE THAT
ALL OF THE FASTENERS (INCLUDING PRE-ASSEMBLED) ARE
TIGHTENED BEFORE OPERATION OF THE MOTORCYCLE.
KURYAKYN WILL NOT PROVIDE WARRANTY COVERAGE

ON PRODUCTS OR COMPONENTS LOST DUE TO IMPROPER
INSTALLATION OR LACK OF MAINTENANCE. PERIODIC
INSPECTION AND MAINTENANCE ARE REQUIRED ON ALL
FASTENERS.

Learn more about motorcycle accessories on our website.


https://www.motorcycleid.com/accessories.html

